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[Question ID = 1203][Question Description = 198_27_Telugu_0CT22_Q98]

B89

[Option ID = 4809]

2. Zf)é!)r&“di)o

[Option ID = 4810]

. EDBL0

[Option ID = 4811]
=

[Option ID = 4812]
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[Question ID = 1204][Question Description = 199_27_Telugu_0CT22_Q99]

T ToN batc)
—
[Option ID = 4813]
2. &I°005° 30
[Option ID = 4814]
3. 0
@tgoéétﬁ TG0
[Option ID = 4815]

“ GBS

[Option ID = 4816]
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[Question ID = 1205][Question Description = 200_27_Telugu_OCT22_Q100]
B AL TelA) 5@)“3}&’1)"’;)‘55
[Option ID = 4817]
2 528°8 DO0P0REITY)
[Option ID = 4818]
. @Boio Troroseseren

[Option ID = 4819]

4 HO08TEd Baos B8
[Option ID = 4820]

Topic:- 11_GP_SH1_Set1_A



1)

The following table shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classes who like to play cricket. tennis. handball
and football. Based on the data in the table, answer the questions. (A student can play

one OF more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students - -
| Cricket | Tennis | Handball | Foothall

A 240 60% T0% 50% 60%
B 280 50% 60% 60% 50%
C 320 40% 65% 55% 45%
D 360 | 65% 78% 65% 55%
E 480 | 0% | s0% | 7% 45%

Frfefam Ao & wr faamem 1 ot wae (AE) § e # frnidE 1w s e was §
et =7 wlaem (%), 1 e, 28, S5 AT B B 0EE FG 3, WA 2| A R a9t
F AT W WS 1-3 F I Aan | (v et v e W wiaw O w9 = 99 59 3 B

T § AT TR i SEEE

| T T e (%)
A 240 60% | T0% 50% 60%
B 280 50% | 60% 60% 20%
c 320 40% | 65% 55% 45%
D 360 65% | TH% 65% 5b%
E 480 T0% | 80% 5% 45%

The number of students in the school who like to play cricket 1s

TFhe Ee TEE A O A = we e g e
[Question ID = 1506][Question Description = 101_00_General_27_0CT22_Q01]
1. 872
[Option ID = 6021]
2. 864
[Option ID = 6022]
3. ga2

[Option ID = 6023]
4. 1022

[Option ID = 6024]

2) The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classes who like to play cricket. tennis. handball
and football. Based on the data in the table, answer the questions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students - -
| Cricket | Tennis | Handball | Foothall

A 240 60% T0% 50% 60%
B 280 50% 60% 60% 50%
C 320 40% 65% 55% 45%
D 360 | 65% 78% 65% 55%
E 480 | 0% | s0% | 7% 45%




FETAREA A § U R i 01 Fen (AE) 5 weaw | fEEieEr s we #A s1 wanE 4 5
i 1 wiae (%), A R, 2, Feaiet {0 BEa @el THE 0 5, G5 Al e o s
T AEN W U 1-5 F I AnA | (U Tt uw me 9 90 W B 9 we 19 @e 06 1)

BT H e i s wriE

WS A =1 [T = ae (%)
A 240 60% T0% 50% 60%
B 280 50% | 60% 60% 50%
(@ 320 40% 65% 55% 45%
D 360 65% | T5% 65% 56%
E 480 70% | 80% 5% 45%
The number of students who like to play Tennis in Clasg Ais —— % less than those

who like to play Handball in Class E.

FAT A H THE T TES HA 9T FEneEl i D w5 E § SSET @eEl THS F a5 [aaneEr
T A T TaTE (%) FHOE

[Question ID = 1507][Question Description = 102_00_General_27_0CT22_Q02]
1. 40

[Option ID = 6025]
2. 50

[Option ID = 6026]
3. 53.33

[Option ID = 6027]

4. 56.67

[Option ID = 6028]

3 The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classes who like to play cricket, tennis. handball
and football. Based on the data in the table, answer the questions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students —— -
| Cricket | Tennis | Handhall | Foothall

A 240 60% 70% 50% 60%
B 280 50% 60% 60% 50%
c 320 | 40% | 65% 55% 45%
D 360 65% 75% 65% 55%
E 480 70% 80% 5% 45%

fefefgs e T o faeme =1 9= Fae (AE) T oo 8 faenfdaat = e s 53 e § 3
feEnieiat =1 iae (%), S R, 2, Tesie W G Gl GOE FI B, I 7| A o 6
F AT W WS 1-3 F I Aan | (v et v e W wiaw O w9 = 99 59 3 B

T § FAT-FT THEaE s SEEE

| e e A T e (%)

A 240 60% | T0% | 50% | 60%
B 280 50% | 60% | 60% | 50%
c 320 40% | 65% | 55% | 45%
D 360 65% | 75% | 65% | 55%
E 480 70% | 80% | 75% | 45%




The ratio of the number of students whe like to play ericket in Class B to that of the number
of students who like to play Football in Class C 1s

Fe B T Tde O WHE e 9 [EEnidAl i e w7 s wAn C 0 RAT g TEE F g
[Question ID = 1508][Question Description = 103_00_General_27_0CT22_Q03]
1. 36:35
[Option ID = 6029]
2. 31:36
[Option ID = 6030]
3. 35:37
[Option ID = 6031]
4. 35:36

[Option ID = 6032]

4) The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students 1n these classes who like to play cricket, tennis, handball
and football. Based on the data in the table. answer the questions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who hike
Clasgs | Number of students —— -
| Cricket | Tennis | Handball | Foothall

A | 240 60% T70% 50% 60%
B 280 b0% 60% 60% 50%
c 320 | 40% | 65% 55% 45%
D 360 65% 15% 65% 58%
E 480 70% 80% 5% 45%

L e = M 0= e 0 o e = e s s 7 ) B < O 1 £ = s i e e B i = e
ferntéen =1 wiaeE (%), I S, 26, S @ FEEeT Seil 188 G B, WEEE 7| AN 6 s
TN W T 1-5 F 307 Atan | (ws el v we an gt @ we ) w@e 95 5@e 5y 2)

T § FHAT-TW e i 9eiEe

WHE T =T TR o e (%)

A 240 60% | 70% | 50% | 60%
B 280 50% | 60% | 60% | 50%
'3 320 40% | B5% | 55% | 45%
D 360 65% | 75% | 65% | 55%
E 480 70% | 80% | T5% | 45%

If M is the number of classes in which more than 180 students like to play handball, then M =

iz M 39 T =7 991 2 T986 180 T Al o] 259re G 9692 % 7, o M=

[Question ID = 1509][Question Description = 104_00_General_27_0CT22_Q04]
1. 9

&

[Option ID = 6033]
2. 3

[Option ID = 6034]
3. 1

[Option ID = 6035]
4.0

[Option ID = 6036]



5 The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students 1n these classes who like to play cricket, tennis, handball
and football. Based on the data in the table. answer the guestions. (A student can play
one OF more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who like
Class | Number of students —— -
| Cricket | Tennis | Handhall | Foothall

A | 240 60% T0% 50% 60%
B 280 50% 60% 60% 50%
c 320 | 40% | 65% 55% 45%
D 360 . 65% 75% 65% 55%
E 480 | 70% | so% | 7% 45%

FEfalEs Aife= 7 U fEereE i 0w (A-E) O Tegs ° e o o A0 S FArE §
it =1 iaere (%), H ERE, 2, TSR W G Well UOE FI 5, IR 7| A o @R
T AEW W WS 1-5 F I AAn | (R et vE we 9 9ihaE @ FE 9 = T8 =29 99697 5)

e A i 1

| e Tl (%)

A 240 60% | T0% | 50% | 60%
B 280 50% | 60% | 60% | 50%
5 320 40% | 65% | 55% | 45%
D 360 65% | 75% | 65% | 55%
E 480 70% | 80% | 75% | 45%

The maximum percentage of students in Class A who do not like to play any of the given four
games can be

T A H 39 e W Aty giaera e w1 ST 7. 7 159 T S0 el 3 9w 9 @ @

[Question ID = 1510][Question Description = 105_00_General_27_0CT22_Q05]
1. 40%

[Option ID = 6037]
2. 10%

[Option ID = 6038]
3 50%

[Option ID = 6039]
4. 30%

[Option ID = 6040]
Topic:- 11_GP_SH1_Set1_B

R Which of the following is outside the perview of characteriztics of learning?

HetafEs g wim wfm = e = uitfa g 98 a2

[Question ID = 1511][Question Description = 106_00_General_27_0CT22_Q06]

- Learning is a life long process

AT HEE-T0 e A T O 2

[Option ID = 6041]
2. Learning is a temporary change in behaviour



AT s H UE e g 2

[Option ID = 6042]

3. Learning is prompted by individual needs

sifey it Sy TFars 9 T whr 2l

[Option ID = 6043]
4. Learning is transferable

AT FEATE w2

[Option ID = 6044]

2)  Which of the following operations comes under the pre-active phase of teaching according to
Philip. W. Jackson?

Lo Mt S 12 e O B e e e T B 2 e e el 200 e s s e 1

[Question ID = 1512][Question Description = 107_00_General_27_0CT22_Q07]

1. Diagnosis of the learners

[Option ID = 6045]
2. Decision about the strategies

T & = 6 i
[Option ID = 6046]

3. Aections and reactions
THETT TR Ui

[Option ID = 6047]
Selecting appropriate testing devices

[Option ID = 6048]

3) Given below are two statements :

Statement I : In synchronous mode, both teacher and learners are present at the
same time,
Statement IT :  Tutors in online spaces do not have the opportunity to show partiality

and =steadfastness towards knowledge.

In the light of the above statements, choose the most appropriate answer from the options
given below :

F= 21w fen e E

Fog I: Ao ey 5, s v i 5 v F ge W e v A

FoF IL: e 9wl | SEEEE (Z2E1) F O FE F 0 uaE 91 ssafa Eee w1 e 99

Gl

IT FUE T AR 1, 4= 7w e 1 1 v 3w T W 99 S
[Question ID = 1513][Question Description = 108_00_General_27_0CT22_Q08]
1. Both Statement I and Statement IT are correct

Fa7 I A7 I3 971 7

[Option ID = 6049]



2. Both Statement I and Statement 11 are incorrect
w2 147 I 391 70 7
[Option ID = 6050]
© Statement I is correct but Statement II is incorrect
w1081 2, w1 5o [T 7
[Option ID = 6051]
Statement I is incorrect but Statement IT 1s correct
o I 7. =7 e &8 &

[Option ID = 6052]

4) Arrange the following five elements of ‘Pedagogy’ given by Herbert

(A) Generalization
(B) Association

(C) Presentation
(D) Application

(E) Preparation

Choose the eorrect answer from the options given helow :

=87 ZAT f2u U T T FretEiEe 5 A s e
(&)  TmE=TE

By T

(C)  wgArEm

(D) AT

(B) ==

47 720 U eEReTl B T FE] T S = S

[Question ID = 1514][Question Description = 109_00_General_27_0CT22_Q09]
1. (E). (D), (B), (A), (C)

[Option ID = 6053]
2. (E). (C). (B). (A), (D)

[Option ID = 6054]
3. (). (E). (B). (D). (&)

[Option ID = 6055]
4 (B), (D), (E), (C), (A)

[Option ID = 6056]

5) Match List T with List II :

List 1 List II
(Learner attributes) (Meaning)

(A) Problem-solving (I) The ability to reflect upon the meaning
and analysing the facts

(B) Creative thinking (II) The ability to address a problem for
successful outcome

(C) Critical thinking (ITI) The ability to look at things differently
and find new ways of solving problems

(D) Decision making (IV) The ability to select a course of action

which would lead to desired cutcome

Choose the correct answer from the options given below :



L w0 gL = e i

=11
(st T )

(A) TEFT - FEEE

(B) H=ATH® e
(C)  HerEATEF =

(D) TaumEs

T=II
(=)

I == F =7 =AY w47 T #w
Tavertas = =i Jraa

(IID) =51 1 9= @f% § @+ @7 =

41 T2u o e B H e 3 R = i

[Question ID = 1515][Question Description = 110_00_General_27_0CT22_Q10]
T (A)(ID). (B)-(III). (C)-O). (D)-(IV)

[Option ID = 6057]

2. (A)-(IV), (B)-(I0), (C)-(I), (D)-(I10)

[Option ID = 6058]

3. (A)-(ID), (B)-(D), (C)-(IV), (D)-(I1T)

[Option ID = 6059]

4 (A)-IV). (B)(IID. (C)«(D). (D)-(II)

[Option ID = 6060]

6) Coding paradigm is extensively used in

o B L S o

efatgs § 9 Brad il TiagE = 391 e =9 8 e Am R e

[Question ID = 1516][Question Description = 111_00_General_27_0CT22_Q11]

1. Language analysis

[Option ID = 6061]
2. Conversational analysis

o b i W s R,
HIa=ETd JSLT T2 oTdm

[Option ID = 6062]
3. Grounded theory research

AT HET

[Option ID = 6063]
4. Covertobservation

T T

[Option ID = 6064]

") The analytic - induction strategy is a method of

g — AT FEGG s § | e 9 2 v

[Question ID = 1517][Question Description = 112_00_General_27_0CT22_Q12]

1. Quantitative analysis

[Option ID = 6065]
2. @ualitative analysis



[0

ption ID = 6066]

3. Field observation

e

[0

ption ID = 6067]

4. Participatory analysis

[0

8)

ption ID = 6068]

Which of the following are included in the positivist paradigm of rezearch?
(A) Quantification

(B) Construction of hyvpotheses

(C) Use of abjective measures

D) Subjective analysis

(E) Rejection of theories

Choose the correct answer from the options given below :

freferian # & % & 09 % gEEEE WeEE 5 o 8

(&)
(B
(©)
(D)
(E)

G

FITETI R
TS T T I

TG ST A

Tou T ERedT § | WE) 390 W S99 i

[Question ID = 1518][Question Description = 113_00_General_27_0CT22_Q13]
1. (A). (B). (C) only

== (A), (B). (C)

[Option ID = 6069]

(B). (C). (D) only

=7 (B). (C). (D)

[Option ID = 6070]

(C). (D). (E) only

Fa (). (D). (E)

[Option ID = 6071]

- (A). (D), (E) only

= (A). (D). (E)

[Option ID = 6072]



9) Given below are two statements : One is labelled as Ascertion A and the other is labelled as

Reazon R.

Assertion (A) ; Experimenter's bias is-a real issue at different phases of research.

Reason (R) : A researcher can influence the results of a study by mistakes in observation

and data entry, either intentionally or otherwise.

In the light of the above statements, choose the most appropriate answer from the options

given below :

I B YT B 0 E ;T ATHEeE (Assertion (A)) F 9 H g £ A7 TaT wiF Fw (Reason (R))

FEIH :

ATFEYE (A) : AT F [ = T AN F EE U A a2

F (R) BlleE i v e Ll e e | AR e e e o B e e T e e e i
THIET 9 T

IO FAA & AR O, A= B0 G 1 0 T 39w 39 9 99 Sy

[Question ID = 1519][Question Description = 114_00_General_27_0CT22_Q14]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 57 (R) 21 @71 7 #0 (R), (A)=hi o8 = &

[Option ID = 6073]
2. Bath (A) and (R) are correct but (R) i NOT the correct explanation of (A)

(A) #17 (R) <M1 @7 2, S1FFT (R). (A) 1 581 == =5 2

[Option ID = 6074]
3. (A) is correet but (R) is not correct

(A) == 2. = (R) &9 =51 2

[Option ID = 6075]
4. (A) iz not correct but (R) is correct

(A) =F1 ] 3, WA (R) 79T 2

[Option ID = 6076]

10) Given below are two statements :
Statement T 1 A diserete variable can represent only finite set of values.
Statement IT : A confinuous variable can be broken into subparts including fractions,

In the hight of the above statements. choose the correct answer from the options given below :
9 91 FYE HE T E
Fgq [:  6F0 =7 Hael B & GHE GE=E w59 T v

Fea II: Tad =% 1 97 984 399S § 99 =0 =1 71 21

T R o AR B, T S0 0 T 5 TR 39 =9 R

[Question ID = 1520][Question Description = 115_00_General_27_0CT22_Q15]



1. Both Statement I and Statement IT are true
Fu 147 I 261 979 7

[Option ID = 6077]
2. Both Statement I and Statement IT are false

F44 1 31 11 2H1 5@ &

[Option ID = 6078]
3. Statement I is true but Statement II is false

F99 154 7, virhd a7 1L 59T 7
[Option ID = 6079]

4. Statement I is false but Statement I is true
Fo 1 w5es 3, A =y Lo 2

[Option ID = 6080]

" In two-step flow of communication, messages pass through

(A)  Mass Media

B) Opinion leaders
(C) Bureaucracy

(D) Spiritual leaders

Choose the eorrect answer from the options given below :
T F Z-HITHT TEE T WE) e O 2 e §
(B)  wIfaaa Fmiana
(Cy St
(D) Ao T
41 20 U f9Fed § § FEl 50 1 =EA AT

[Question ID = 1521][Question Description = 116_00_General_27_0CT22_Q16]
1. (A)and (B)

(A) #7 (B)

[Option ID = 6081]
2. (B)and (C)

(B) =1 (C)

[Option ID = 6082]
3. (C) and (D)

(C) 5 (D)

[Option ID = 6083]
4. (A) and (C)

(A) =7 (O)
[Option ID = 6084]

12) The real basis of communication is

T ] AEATET AR B

[Question ID = 1522][Question Description = 117_00_General_27_0CT22_Q17]



1. Peer pressure

[Option ID = 6085]
- Personal ambition

a: ‘Ji'zf.-ﬂ'z_': ﬂ.—’.ﬂ!rﬁ-?ﬁ

[Option ID = 6086]
3. Common experience

A

[Option ID = 6087]
4. Desire for divergence

[Option ID = 6088]

13 3 i
) What are the key features of transactional model of commumcation?

(A) Ahsence of noise

(B) Extensively used in interpersonal communication
(C) Feedback is a new message

(D) Role exchange by encoder and decoder

(E) Encoder and decoder discrimination is the order

Choose the correct answer from the options given below :

(A)  FieEA FAEE

(B) ¥ S TO0 F S A T T

(C)  Tg= T 537 T2 B

D) Bz EgF A0 TR I Y AR -0
(B) = wg7 7 [ages =1 (9957 @i o930 7
St e e el B H wE 0 9 e

[Question ID = 1523][Question Description = 118_00_General_27_0CT22_Q18]
- (A). (B). (C) only

F (A). (B). (C)

[Option ID = 6089]
2. (B), (C), (D) only

#Fa (B), (C), (D)

[Option ID = 6090]
3. (©), (D). (E) only

71 (C), (D), (E)

[Option ID = 6091]
4 (A), (D). (E) only

= (A). (D). (B)

[Option ID = 6092]



14) Given below are two statements ;

Statement I : The transmission view of communication i1s both hegemonic and
mechanistic.
Statement I1 : The ritualistic view of communication emphasises the factors of

commonality. communion and fraternity.

In the light of the above statements. choose the correct answer from the options given helow :

R EE En T E

FUA L HEW R OYA S F AR S A1 3w R
Fud IL: =W % TRAE SR o ST, Sl 6 e S8 92l W g9 (54 A 2
U T T 0 B i = = P 15 B i e = = T = = B i e e B B 2 e
[Question ID = 1524][Question Description = 119_00_General_27_0CT22_Q19]
1. Both Statement I and Statement IT are true
FuF 1 A7 [L=H1 505 &

[Option ID = 6093]
2. Both Statement I and Statement IT are false

Fo5 [ 97 I 391 4977 =

[Option ID = 6094]
3. Btatement Iis true but Statement IT is false

F99 1909 &, &0 7o 1159 &
[Option ID = 6095]
4. Statement I is false but Statement I is true
FF 1 70 7, #iwa Fo [ #ed 7
[Option ID = 6096]

15)  The sequence of zones in kinesics is

(A) Personal
(B) Intimate
(C) Public
(D) Social

Choose the correct answer from the options given below :

FIEET § T T OGTEE B

(B) ==
(€)  AETET
(D) =T

Hr= TEu e B O EE 3 = ShiTa

[Question ID = 1525][Question Description = 120_00_General_27_0CT22_Q20]
' (A), B). (0). (D)

[Option _ID =6097]
2. (B), (C). (D), (&)



[Option ID = 6098]
3..(C), (D), (A (B)

[Option ID = 6099]
4. (B). (A). (D), (C)

[Option ID = 6100]

16) A group consists of 3 males. 3 females and 5 children. The average age of the males is 50
yvears, that of females iz 45 years and that of children iz 10 years. What is approximate

average age of the group?
UF HHFE AEH 3 959, 3 HiEA UG 5 W 7| 9FW 1 WA 9@ 50 799 7, HiEens # a7 45 79 7
UE W= ] A 9 10 99 | FEE 1w e a9 e 2
[Question ID = 1526][Question Description = 121_00_General_27_0CT22_Q21]
1. 32.5

[Option ID = 6101]
2. 3045

[Option ID = 6102]
3. 2845

[Option ID = 6103]
4. 3145

[Option ID = 6104]

17)  Find the next number in the series given below :

7,10. 15, 22, 33, 46. 7

4= & T e 1§ st T T i)
7. 10, 15, 22, 33, 46, 7

[Question ID = 1527][Question Description = 122_00_General_27_0CT22_Q22]
1. 61

[Option ID = 6105]
2. 88

[Option ID = 6106]
3. 55

[Option ID = 6107]
4. 83

[Option ID = 6108]

18) The daily income of three persons A, B and C 1s in the ratic of 2 : 5 : 11 and the income of B is
Es. 291 more than that of A. Find the income of C

= =fFea] A, Bud C =1 Siafsa =il 317/ 2:5:11 F 340 § & 0% B F 573 A i 379 9 291 590 siaw
2 C=1 @E 79 i)
[Question ID = 1528][Question Description = 123_00_General_27_0CT22_Q23]
1. Rs. 679
679 FTq0

[Option ID = 6109]
2. Rs 1.746

1. 746700

[Option ID = 6110]
3. Rs. 1.067



1,067 ¥4

[Option ID = 6111]
4. Rs. 1,256

1,256 300

[Option ID = 6112]

19) Two numbers are. respectively. 28% and 25% less than a third number. What percent is the

first number of the second number?
=T AT, ST AT § e 28% ST 25% FH 2| TRl OieEn gat w1 fRaA e w2
[Question ID = 1529][Question Description = 124_00_General_27_0CT22_Q24]
1. 104.16%

[Option ID = 6113]
2 90%

[Option ID = 6114]
3. 92%

[Option ID = 6115]
4. 96%

[Option ID = 6116]

20) A dealer sold three-forth (3/4%) of his articles at a gain of 20% and the remaining articles at
the cost price. Find the gain earned by him in the whole transaction.

T T 7 AT T F 8/4 97 F 20% T W AE 0 A9 T T AVE od T oAE 531 7R
ST W 39E g AT I ] A AT -iaE A 2 ¢

[Question ID = 1530][Question Description = 125_00_General_27_0CT22_Q25]
1. 0%

[Option ID = 6117]

2. 18%
[Option ID = 6118]
3. 16%

[Option ID = 6119]
4. 15%

[Option ID = 6120]

21 . 4 E 2 - X E 4 §
) “I think you will find that this bail out is the best option before our organization. especially

because disagreement may indicate that this company is not the right place for you” Which
informal fallacy 12 committed in the above argument?

“H wrgaT & 7 = o T 7w 29 Huw ones o F and Ay ey 9w B, e fae = A
Bt e e 2 ol i e ot o e ol £ e = o e e e 20 e 2 = [

=

9T I B FH SRR O 20 Jied 7

[Question ID = 1531][Question Description = 126_00_General_27_0CT22_Q26]

1. False alternative

T 9y

[Option ID = 6121]
2. Circular argument

[Option ID = 6122]
3. Appeal fo force



[Option ID = 6123]
4. Appeal to iInappropriate authority

[Option ID = 6124]

22)  Which of the following statements are contraries?

(A) All men are mortal
(B) Some men are mortal
(C) Some men are not mortal

(D) No men are mortal

Choose the most appropriate answer from the options given below ;
Al 5 3 F 4w e R
(&) 79 9 T 7
B) F9 T TF 7
(©) 3 059 778 51 = 2
(D) = 6 7= v 5 A A
1% o 0 Tl B | HeE S9gE I3 95 A

[Question ID = 1532][Question Description = 127_00_General_27_0CT22_Q27]
1. (A) and (C) only

et (A) HT (C)

[Option ID = 6125]
2. (B) and (C) only

et (B) 57 ()
[Option ID = 6126]

3. (B) and (D) only
e (B) 317 (D)
[Option ID = 6127]

4. (A) and (D) only
et (A) 37 (D)

[Option ID = 6128]

23) Which of the following statements are logically equivalent?

(A) Some animals are birds,

(B} Some birds are animals.

(C)  Some animals are not non-birds.

(D) Some animals are non-bhirds.

(E) Some non-birds are not non-animals.

Choose the maost appropriate answer from the options given below :



F Lo TR e B 2 B e 2 B e i i e L 1
(A)  Fz 9 T FE A

(B) 3 U&T U7 7 F

(Cy 52 99 T—9& 75 71 7

(D) FB T -E A F

(By = - T—ugg 77 719 7

1 few T forei & @ weE TR I R = O

[Question ID = 1533][Question Description = 128_00_General_27_0CT22_Q28]

1.

24)

(A), (B) and (C) only
Fad (A). (B) €7 (C)

[Option ID = 6129]
(A), (C) and (D) only

#Fae (A), (C) € (D)
[Option ID = 6130]

(B) and (C) only
a7 (B) 5 (C)

[Option ID = 6131]

- (B). (C). (D) and (E) only

Faet (B). (C). (D) 1 (E)

[Option ID = 6132]

Given below are two statements :

Statement 1 : According to classical Indian School of Logic inference for cneself is
called Svartha Anumana.
Statement IT : Svartha Anumana is a syllogism and has to be presented in language.

In the light of the above statements. choose the correct answer from the options given below :
#1951 9T 190 F

T L: A F AW T A % SEAN = F 60 9 = A ween 2

e IL: =S 9T =1 A 7 s T H e e e e 2

TP A A AR O, A e T faEe § O wa 39 S =9E R

[Question ID = 1534][Question Description = 129_00_General_27_0CT22_Q29]

1.

3.

Both Statement [ and Statement I1 are true

Fa I 0 [ 291 5o 7

[Option ID = 6133]
- Both Statement I and Statement IT are false

Fom 147 I =M1 870 7

[Option ID = 6134]
Statement I 1s true but Statement 11 is false

F97 1593 &, =it =97 1L 969 &



[Option ID = 6135]
4. Statement I is false but Statement IT is true

w97 1 50eg 7, =i wa a7

[Option ID = 6136]

25) According to classieal Indian School of Logic which of the following steps of inference involve
application of the universal concommitance to the present case?

(A) This hill has fire

(B) Because it has smoke

(C) Whatever has smoke has fire, e.g. an oven

(D) This hill has smoke which 1s invariably associated with fire
(E) Therefore the hill has fire

Choose the most appropriate answer from the options given below :

TF F qUAE AEE A4 F STEE ATHE R S GE H S0EE TR S e aEdies geatan
(&) TATEHT A= 2

(B)  FF T 9 R

(D) 33 SRS H AT & W) e #h | A

(E) 39w 97T 5 =i 7

S fam T et H O e IUgER I R 99T hia
[Question ID = 1535][Question Description = 130_00_General_27_0CT22_Q30]
1. (C)and (E) only
Fae () 57 (E)
[Option ID = 6137]
2. (B)and (C) only
Fae1 (B) 51 (C)
[Option ID = 6138]
3. (C)only
Fa (C)

[Option ID = 6139]
4. (D) only

F= (D)

[Option ID = 6140]

26) Suppose that the class grade for a six week period is based on three tests (Ti. Tz, Ts). each of
which counts for 15%, four quizzes (@i, @2, Qs. Qu), each of which counts for 10%. and a
homework note book (HW), which counts for 15%. The grades are recorded in a spreadsheet
similar to the one below.

A |Blc|D|E|F|G |H|I | J
1| Name |T: | Tz | Ts Q| Q| @ | Qu|HW | AVG
|2 |Jatin |87 |92 80|76 |79 |87 |74| 90

13| Amit |91 |85 |77 78|88 96 |90 92 |

|4 |Anil |65|72 |70 |80 |81 74 |77] 80 |

5 | Anita |96 |88 |91 |76 |91 (100 | 74 | 98

Which of the following formulae would NOT be a correct calculation of the six-week weighted
average for Jatin?



o witaE 7 v 6 gm-wEtg F e Fan (W) 73 = e (T, Te To) &8 7 799% 15% =
iR 7, W WA (FE) (@ Q2 Qi Qu). A | wEE 10% 7 e 7, w17 U e,
15% = iRl 2 O T = At (Tsw) e wae TR reefie | @l o e

A B|C|D|E|F|G H| I J
1am |7 T | T | @ || @ | Q|aW|Ave

[l

|=fm |87 |92|80 |76 |79 | 87 |74 | 90

-'ﬂfﬂ?r|91 8 |77 |78 |88 | 96 |90 | 92

3
4| ufer |65 |72 |70 |80 |81 | 74 | 77| S0
5 | |96 |88 |91 |76 |91 |100 | 74| 98

FefEEs ¥ 3 FH-0 73 009 20 TR 0 6 THTE 9T TG U WA Aie A6l men g
[Question ID = 1536][Question Description = 131_00_General_27_0CT22_Q31]
1. =B2+015+C2+0.15+D2+015+ E2+0.1+F2+01+G2+0.1+H2=01+72+015

[Option ID = 6141]
2. =(B2+C2+D2+I2)+0.15+(E2+F2+G2+ H2)=0.1

[Option ID = 6142]
3. —((B2+C2+D2+12)=1.5+(E2+ F2+ G2+ H2)/10

[Option ID = 6143]
4. =(B2+C2+D2+12)/15+(E2+ F2+G2+-H2)/10

[Option ID = 6144]

27)  Which of the following devices from the izt A — E given below are output devices only?

(A)  Blu-Ray disc

(B) Buzzer
(C) Web-Cam
(D) SSD

(E) Laser printer

Choose the correct answer from the options given below :

= 4 AR E 75 1 g8 3 tataten e 2w sea deete (i) gfEr 27

A =it
(B) EELE

(C) F959
D) A

(Ey =
4= om0 foEeT B 1 TR I W =99 Fiem
[Question ID = 1537][Question Description = 132_00_General_27_0CT22_Q32]
1. (B) and (E) only
F== (B) 377 (E)
[Option ID = 6145]
2. (A)and (D) only
Fae (A) #1 (D)
[Option ID = 6146]
3 (C) and (E) only
Fae (C) #71 (E)

[Option ID = 6147]



4. (E) only
F7 (E)

[Option ID = 6148]

28)  Match List I with List II -
ListI List IT
(Computer Term) (Deseription)

{A) Arithmetic and Logic unit (ALT) (I) Stores part of the operating system
currently in use

(B) Control Umt (CU) (IT) Carries out operations such as AND,
OR. NOT

(C) Random Access Memory (RAM) (ITI) Stores bootstrap loader and BIOS

(D) Read Only Memory (ROM) (IV) Fetches and manages execution of

each 1nstruction in turn

Choose the correct answer from the options given below :

11 % F7e g1 o e
-1 11
(Fe ) (=)

i

(A) FEEFUE AR IAZ (TUEE) (D) SRR F T T A T S
o= & 9T AiET A Al

B) FvzE The (F 7) () AND. OR. NOT S# #fwa
T = = 2]

(O) R T T (e ) ) g e w o o @ o
OuiEd AT 7|

(D) 71z A FHE (HE A H) (V) TerF SEEY 1 Iy FET A AR

T SR F A T A

= T2 0 fEReT B g HE 390 1 994 i
[Question ID = 1538][Question Description = 133_00_General_27_0CT22_Q33]
T {A)-(IV). (B)-(III, (C)-(ID). (D)-(I)
[Option ID = 6149]
2. (A)-ID. (B)-(IV), (O)-(D), (D)-{ID)
[Option ID = 6150]
3 (A)-D, (B)-(IV). (C)-(1), (D)-(IID)
[Option ID = 6151]
4 (A)-(ID. (B)-D). (C-(IV). (D)-1ID)

[Option ID = 6152]

29)  Gonsider the following email fields in email software :

To : Ravi@gmail.com

Cc: Rajan@gmail.com. Raj@gmail.com

Bee : Rakesh@gmail.com

Which recipient(s) is/are able to see all the other recipients?

T HiFadE ¥ AeeiEs 3-90 49 Fios W == firag
To : Ravi@gmail.com

Cc : Rajan@gmail.com. Raj@gmail.com

Bee : Rakesh@gmail.com

fATTee =71 a T G W] WA 5 9 WA AR



[Question ID = 1539][Question Description = 134_00_General_27_0CT22_Q34]
1. Rajan. Raj and Rakesh

[Option ID = 6153]

2 Ravi

LiE|

[Option ID = 6154]
3. Rajan and Raj

HEERCEIE]

[Option ID = 6155]
4. Rakesh

‘qi‘j

[Option ID = 6156]
30) @iven below are two statements about online search :

Statement 1 : Google search results return the same information to anyone who enters
the same keywords.

Statement 1T :  Search engines are gathering vast amounts of information about our
searches and ourselves.

In the light of the above statements, choose the correct answer from the options given below :
ST W AR
FUT 1. T 99 fiaeg B AT ohiE gnr o9 gee (i 93) F1 fale 3 8 g wm wd A

FIL: @ s (A 35) o @ s wEE = E A H g ¥ ged 9S6 w5 i E

IR FYH F T 9, A G e 8 wE e S

[Question ID = 1540][Question Description = 135_00_General_27_0CT22_Q35]
1. Both Statement I and Statement IT are true

Foq I &7 I12HT 908 7

[Option ID = 6157]
2. PBoth Statement I and Statement IT are false

= I [L297 575 &

[Option ID = 6158]
3. Statement I is true but Statement 1T is false

FoH 1070 &, wif#= =9 I 997 &

[Option ID = 6159]
4. Statement I is false but Statement II is true

T I B, A+ IO 7

[Option ID = 6160]



31)

Organochlorine pesticides such as DDT's human toxicity 1s comparatively lower, It is their
impact on food chain that leads to acute human toxcity. Their properties that cause them to
be impactful on food chain are

(A) Persistence
(B) Insolubility
(C)  Solubility
(D) Polarity

Choose the most appropriate answer from the options given below :

S SH AT FIEAEE A ST qeea B9 J FE 2| ST e W S 96§ 5
famTT ST W A #] I UE R0 0 £ W 3 W Jue W IEEy a9 E -

(&) =EE

(B) =g

(C)  F=mEie

(D) gFm@

= o e faew F O ged STEEE STt S = SR

[Question ID = 1541][Question Description = 136_00_General_27_0CT22_Q36]
1. {A) and (B) only

Fae (A) Hi (B)

[Option ID = 6161]
2. (A) and (C) only

e (A) H= (O

[Option ID = 6162]
3. (A). (B) and (D) only

e

= (A), (B) 97 (D)

[Option ID = 6163]
4 (A). (C) and (D) only

Fad (A). (€) 57 (D)

[Option ID = 6164]

32)

Which of the following are responsible for global cooling?
(A) Halocarbons

(B) Stratospherc ozone

(o Tropospheric ozone

(D) Sulphate aerozols

(E) Black carbon

Choose the most appropriate answer from the options given below :

HefatEs § 7 F5-3 Fr ST9s o o o ey -

(&Y
B
©
(D)
(E)

55 r

FEATRE

S Tem e fweu § 1 wee 39eT 59 R 959 i



[Question ID = 1542][Question Description = 137_00_General_27_0CT22_Q37]
1. (A), (B) and (D) only

Fae (A), (B) =7 (D)
[Option ID = 6165]
2. (B) and (D) only
e (B) 7 (D)

[Option ID = 6166]
3. (B). (D) and (E) only

34 (B). (D) 77 (E)

[Option ID = 6167]
4. (C)and (D) only

F7= (C) 377 (D)
[Option ID = 6168]

33) Which of the following are Sustainable Development Goals (SDGs)?

(A) Life below water
(B) Lafe on land

(C)  Zero deforestation
(D) Clean water

(E) Clean Air

Choose the correct answer from the options given below :
frefefias & 7 #-4 oo7 fawm S E e
@) W A S
B)  Hm WA
(C) 7= A
(D) == A
E®) =9
e fam o fawedt § F W I W 59T Fia

[Question ID = 1543][Question Description = 138_00_General_27_0CT22_Q38]
1. (A). (C) and (D) only

F= (A), (C) 517 (D)

[Option ID = 6169]
2. (B), (C) and (E) only

A (B). (C) =7 (E)

[Option ID = 6170]
3. (A), (B) and (D) only

a4 (A). (B) 77 (D)

[Option ID = 6171]
4. (A). (B). (D) and (E) only

a (A). (B). (D) =7 (B)
[Option ID = 6172]

34)  India's disaster management plan is based on



[Question ID = 1544][Question Description = 139_00_General_27_0CT22_Q39]
1. Bendai Framework

[Option ID = 6173]
2. Ryoto protocol

[Option ID = 6174]
3. Rio summit

[Option ID = 6175]
4. Montreal protocol

o e

[Option ID = 6176]

35)  Blue hydrogen is produced by process of

FefemET § 7 =5 T g A0 FISSiAA o So0E BT B

[Question ID = 1545][Question Description = 140_00_General_27_0CT22_Q40]
1. FElectrolysis

:i-FEq?__-Ii:iHi'-'ilf H

[Option ID = 6177]
2. Steam reformmng of natural gas or methane

WA 1@ =1 EEE 9T gaW (FW i)

[Option ID = 6178]
3. Steam reforming of Bituminous coal

Tarzaiea F T 9 gaw

[Option ID = 6179]
4. Steam reforming of hignite

TorTse 1 AT guw

[Option ID = 6180]
36) The NEP envisages the setting up of

[Question ID = 1546][Question Description = 141_00_General_27_0CT22_Q41]
1. Regional Research councils

[Option ID = 6181]
2. National Rezearch Foundation

TR oY AT

[Option ID = 6182]
3. National Research Commission

T T A

[Option ID = 6183]



4. National Research Regulatory Authority

T I TS T
[Option ID = 6184]

37) Which of the following are the advantages of distance education system?

(A) Free education for all

(B} Flexible system of education

(C) Encourages earn and learn approach

(D) No regular attendance 1s required

(E) High and complex method of knowledge acquisition

Choose the correct answer from the options given below :

ER b G P e T o e e e e e i
(&) T = fow e e

®)  TE g g

(C) 3799 U= T34 TAEE F YEENE

(E) FA-%97 =1 =9 73 Fea O
B b = o 1 d= e o e e D o i e 1 e

[Question ID = 1547][Question Description = 142_00_General_27_0CT22_Q42]
1. (A). (B), (C) only

F97 (A), (B), (C)

[Option ID = 6185]
2. (B), (C), (D) only

= (B). (C). (D)

[Option ID = 6186]
3. (C). (D). (E) only

Fa (C), (D). (B)
[Option ID = 6187]

4 (A). (D). (E) only

Fa (A). (D), (E)
[Option ID = 6188]

38) Arrange the following in chronological sequences from the beginning to the last as per the
vear of their establishment

(A)  Indira Gandhi National Open University

(B) Karnataka State Open University

(C)  Yashwantrao Chavan Maharashtra Open University
(D) Nalanda Open University

(E) Dr. B.R. Ambedkar Open University (Andhra Pradesh)

Choose the correct answer from the options given below :



fr=fefEs 1 36 9 F 99 F 9IAT 909 O 39 5 FweEy § sdiem S

(A)  SfEr TET T aEE A
(B) iz TTva HEE favatameE

(C) TvEdE =aW AT 5 Ayt

(D) e go vt

(B) = 8190, 39S 099 [Svaiaened (Sanes)

= 750 T foeReT 0 W TR 39 S =9 S

[Question ID = 1548][Question Description = 143_00_General_27_0CT22_Q43]
1. (A). (C). (D). (B). (E)

[Option ID = 6189]
2. (E). (4), (D), (C), (B)

[Option ID = 6190]
3. (B). (©). (A). (E), (D)

[Option ID = 6191]
4. (E), (D). (4), (B), (O)

[Option ID = 6192]

39) Which of the following statements are true regarding Takshashila?

(A) Indian Grammarian Panini had studied there.

(B) Renowned Physician of ancient India Jivaka studied there.
(C) Xuan Zang studied Yogashastra at Takshashila.

(D)  Chinese scholar I-Qing visited Takshashila in 7 Century CE.

Choose the most appropriate answer from the options given below :

R B e e e = A e o e e e e o e
(A)  gTEE S A WO T AR HemE e
(B) U WWA % HUE HeAE Aiam 9 aE] S5 e ol

(C) TEE-TEF T TATTE § AFEE T OASES A a1

(D) =k fgm -fan 7 7= wETh GE A A = oA i
3/ T2u 70 foEe © W TEE ST 30 1 999 S0

[Question ID = 1549][Question Description = 144_00_General_27_0CT22_Q44]
- (B)and (C) only

et (B) 37 (C)

[Option ID = 6193]
2. (A) and (D) only

F== (A) = (D)

[Option ID = 6194]
3. (A), (B), (C) and (D)

(A), (B), (C) 5 (D)

[Option ID = 6195]
4. (A) and (B) only

= (A) 3T (B)

[Option ID = 6196]



40)

Match List T with Tast IT :

List I List IT
(Name of the subject) (Domain)
(A) Shiksha {I)) Metrics
(B) Kalpa (IT) Interpretation
(C) Chandas (III) Phonetics
(D) Mimamea {IV) Rituals

Choose the correct answer from the options given below :

i1 % @y g0 =1 faes =i
L Te-II
(famm =1 79) (=)
(Ay  foram @ ==
B == (ID) = ()
(€ == I =i famm
(Dy mr (IV) Hife-fm=r

H19 B0 e e § W WA I S =hT S

[Question ID = 1550][Question Description = 145_00_General_27_0CT22_Q45]

1.

2.

3.

(A)-(IID). (B)-(IV). (C)-(D). (D)-(IT)

[Option ID = 6197]

(A)-(IV). (B)-(III), (C)-(ID). (D)~(D)

[Option ID = 6198]
(A)-(I0). (B)-(D). (C)-(AV). (D)-(I1I)

[Option ID = 6199]

4 (A)-ID), (B)-D), (C)-ID), (D)-AV)

[Option ID = 6200]

Topic:- 11_GP_SH1_Set1_C

1)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only to raise living
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however. admitted of variations in policies adopted or rejected by post-
colonmial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
industnal production. Yet agriculture remained in private hands. Some countries left feudal
systems of landholding intaect: others gave ownership rights to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected their own industries from external competition. erecting high
tariff barriers. Others adopted a more flexible trade regime. selectively permitting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of forelgn policy. Countries governed by commumist parties were allied with
the Soviet Union, while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,



1.

FeitRT T 1 9EE T 46-50 7 F A 1 I S0

7 A B T T A T A e e W e i T e A S s e A
T AT 1 S WA % T i SER SEweAl 1) §8 WA R ot 2ie /1 9 S A S Wi
off 7T SRR T F AR AR T S e A § 9rEs F o e A
| =H A " 9T A W AR CRAT AT A9 T —aears) 29§ ) ST aeaed § aee
=1 g qieE 9| Fa w0 A S w9 @ L FE A A -9 W AET T A oAae
TaTE F mee 7 ffima il T 50 7 9 =8 F A F awd 2 ) A 3 wie W E
T 2 (W) 1 W AwtaE 9ig #7411 5 T 3 ANATE AaE A ST 79 F A S
T o T el A S G e A A A g # v 6 s A s i e
F staem § UF FEeaqy UEF (999 A1 3| WOEETe 9o g I 29 F @ieEd OF F '@ O3 A TEE
1 Ul ST T e T i e B F | = gt 2o A e o e e
ST 7ot fe f o= T T 2 o 9 T e e 5 9 5 9 =, T A ante F we
T AIETEE ST T

The newly hiberated nations needed economic development for

TF (7 F1 ) T5AA 71 T F Feea # Fresiem a T i s o

[Question ID = 1551][Question Description = 146_00_General_27_0CT22_Q46]
A broad political consensus

UF TR T SR

[Option ID = 6201]

2. Governmental control

[Option ID = 6202]

3. Rejecting some policies

[Option ID = 6203]

4. National integration

[Option ID = 6204]

2) Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only to raise living
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however. admitted of variations in policies adopted or rejected by post-
colomial governments: Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
industral production. Yet agriculture remained in private hands. Some eountries left feudal
systems of landholding intact: others gave ownership rights to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected their own industries from external competition. erecting high
tariff barrers. Others adopted a more flexable trade regime. selectively permitting foreign
goods and capital into their territory. An important factor in the history of modern Asian
nations is that of foreign policy, Countries governed by commumst parties were allied with
the Soviet Union., while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-ahgnment. choosing not to closely identify with either the Russians or the
Americans.
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In communist regimes. the aims of their core policy were to

{A) Eliminate the private sector

(B) Support family farms

(€ Accept different politico-economic initiatives
(D)  Nationalise the industries

Choose the correct option given below
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[Question ID = 1552][Question Description = 147_00_General_27_0CT22_Q47]
. (A) and (B)

(A) =7 (B)

[Option ID = 6205]
2. (B) and (C)

(B) ¥ (C)

[Option ID = 6206]
3. (A) and (D)

(A) 517 (D)

[Option ID = 6207]
4 (C) and (4)

(C) #7 (A)

[Option ID = 6208]



1.

3)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only to raise living
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however. admitted of variations in policies adopted or rejected by post-
colonmial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
industnal production. Yet agriculture remained in private hands. Some countries left feudal
systems of landholding intaect: others gave ownership rights to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected thelr own industries from external competition. erecting high
tariff barrers. Others adopted a more flexible trade regime. selectively permitting foreign
goods and capital into thelr territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by communist parties were allied with
the Soviet Union, while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the

Americans.
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The post-colonial governments preferred
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Paolitical uncertainty

[Option ID = 6209]

PBroad policy consensus

[Option ID = 6210]

3. International trade

A ST

[Option ID = 6211]

4. Rigorous external competition

A e e

[Option ID = 6212]



4)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only to raise living
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however. admitted of variations in policies adopted or rejected by post-
colonmial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
industnal production. Yet agriculture remained in private hands. Some countries left feudal
systems of landholding intaect: others gave ownership rights to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected thelr own industries from external competition. erecting high
tariff barrers. Others adopted a more flexible trade regime. selectively permitting foreign
goods and capital into thelr territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by communist parties were allied with
the Soviet Union, while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans.
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In the case of foreign policy. Asian nations were
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1.

Divided
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[Option ID = 6213]
United

[Option ID = 6214]
Neutral
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- Unclear
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5) Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only to raise living
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
conzensus, which, however, admitted of variations in policies adopted or rejected by post-
colomial governments. Where communists were in charge, there was a push to nationalise
industries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustnal production. Yet agriculture remained 1n private hands. Some countries left feudal
systems of landholding intact: others gave ownership rights to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected their own industries from external competition. erecting hizh
tariff barrers. Others adopted a more flexible trade regime. selectively permitting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by communist parties were allied with
the Soviet Union, while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans.

TG TS T 97T TE 4650 FF S TUAl T Ie 300

7 A ¥ T3 T BH I T 0 TEE F SR W FeE 9 s AT 29 6 9 e wd
ST T srafem on| i afd fam 1 318 7 Fa9 9= T F S 9 A a7 37
T WSS 1 S T A S SEeR SEenal A1l 58 S R o Jie 6 WS A HEE
aﬁﬁmﬁﬂmﬁ:h?nﬁnﬁwmmﬁwmwmﬁmnqﬁamﬂﬁﬁmﬁmﬂwm
EaEe 1 i = o = e = e e o 1 M e 0 e R 2 2 1 R T 2 e =1 = T ol e = e
1w e 9| T B w6 d o, T A A G- H ST T S Al e
v & mee # ot fafimed o) s 29 3 s =E F I e ge i aieme] # A e S
o0 2 (W) 1 A ATTaE 9ig #2411 3 S 3 AUATEa ATaE Aeiel ST 99 F A0 50
I8 FH 7§ e e A IE ® S9EeG 9 A 7 A0 99§ W B S S 51 S v T
F SiAET § UF WEedqy 9o (9991 A 2| WEETEl 5 30 e a9 9 AieE T e S 6 6
S WP 29 A WAE TR i %W S | W] g aieas 29 i e vE aee @EEa 4
srETee 7o) T @ o= 290 5 T e wv F w1 e I 9 5 A BE, F 8 9niem & wy
e AR T

The passage attempts to analyse in respect of newly liberated countries
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[Question ID = 1555][Question Description = 150_00_General_27_0CT22_Q50]
1. Their post-colonial politico-economic policies

S TR AR - ST ATAE]

[Option ID = 6217]
2. The need for protectionism in the global market

AT AT § WA ) AETIEA

[Option ID = 6218]
3. The importance of non-alignment
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[Option ID = 6219]
4. The benefits of Western capital
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